
SAP ABAP table CMS_STR_AST_VAL_HIST {Structure (DB Format)}

CMS_STR_AST_VAL_HIST

NOM_VALUE_CURR [CUKY (5)]

AST_VALUE_CURR [CUKY (5)]

UNIT_OF_MEASURE [UNIT (3)]

PUR_PRICE_CURR [CUKY (5)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CMS_STR_AST_VAL_HIST-UNIT_OF_MEASURE = T006-MSEHI 
0..N

1
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CMS_STR_AST_VAL_HIST-AST_VALUE_CURR = TCURC-WAERS 

0..N
0..N

 CMS_STR_AST_VAL_HIST-NOM_VALUE_CURR = TCURC-WAERS 
0..N

0..N
 CMS_STR_AST_VAL_HIST-PUR_PRICE_CURR = TCURC-WAERS 

0..N0..N


